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= showData(Faired t_test, placement='—20+200 , font=gethcmdr (' LogFont' ), maxwidth=80, maxheight=30)

= fix(Paired t_test)

> showData(Paired t_test, placement='-20+4200', font=getRcmdr (' logFont'), maxwidth=80, maxheight=30)

> t.test(Paired_t_test$first, Paired t_testisecond, alternative='two.sided', conf.level=.95, paired=TRUE)
Paired t-test

data: Paired t test$first and Paired t test$second
t = -6.3087, df = 29, p-value = 6.853e-07
alternative hypothesis: true difference in means is not equal to O
95 percent confidence interwval:
-7.371322 -3.762011
sample estimates:
mean of the differences
-5.566667
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= t.test(score~class, alternative='two.sided', conf.level=.95, wvar.equal=FARLSE, data=t_test)
Welch Two Sample t-test

data: score by class
t = 7.5588, df = 67.745, p-value = 1.414e-10
alternative hypothesis: true difference in means is not egqual to 0
95 percent confidence interwval:
2.628537 4.514320
sample estimates:
mean in group 1 mean in group 2
T.028571 3.457143
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> summary(AnovaModel.1)

Df Sum Sq Mean Sq F value  Pr(>F)
class 2 951 475.5 7.7 0.000834 ***
Residuals 87 5372 61.7

Signif. codes: 0 '"***' (0.001 **' 0.01'*' 0.05"'.'0.1''1
> numSummary(one_way_anova$score , groups=one_way_anova$class, statistics=c("mean",
"sd"))
mean sd data:n
1 33.76667 6.574157 30
2 27.46667 8.544945 30

3 26.40000 8.307039 30

> Pairs <- glht(AnovaModel.1, linfct = mcp(class = "Tukey"))

> summary(.Pairs) # pairwise tests

Simultaneous Tests for General Linear Hypotheses

Multiple Comparisons of Means: Tukey Contrasts

Fit: aov(formula = score ~ class, data = one_way_anova)

Linear Hypotheses:
Estimate Std. Error t value Pr(>|t|)

2-1== -6.300 2.029 -3.105 0.00717 **
3-1== -7.367 2.029 -3.631 0.00139 **
3-2== -1.067 2.029 -0.526 0.85897

Signif. codes: 0 '"***'(0.001 '"**' 0.01 *'0.05'.'0.1'"'1
(Adjusted p values reported -- single-step method)

> confint(.Pairs) # confidence intervals

Simultaneous Confidence Intervals

Multiple Comparisons of Means: Tukey Contrasts



Fit: aov(formula = score ~ class, data = one_way_anova)

Quantile = 2.3845

95% family-wise confidence level

Linear Hypotheses:

Estimate lwr upr
2-1==0 -6.3000-11.1380 -1.4620
3-1==0 -7.3667-12.2047 -2.5287
3-2==0 -1.0667 -5.9047 3.7713

> cld(.Pairs) # compact letter display
2 3 1

"a" "a" "b"

> old.oma <- par(oma=c(0,5,0,0))

> plot(confint(.Pairs))

> par(old.oma)

> remove(.Pairs)



